EB-2021-0110:3: Shelley Grice

SUBMISSION DEADLINE DATE **CLAIM STATUS COST CLAIM NUMBER**

December 20, 2022 Approved by Finance 1098

EB# OTHER EB#S PHASE #*

EB-2021-0110: Rates: Distribution: Hydro One

Networks Inc.

INTERVENOR

INTERVENOR COMPANY*

INTERVENOR TYPE Association of Major Power Grice, Shelley; +1 (647) 880-9942 Consumers in Ontario, Toronto: Full Registrant shelley.grice@rogers.com

Institution

3

EXCHANGE RATE COUNTRY HST RATE ONTARIO

13.00

EXTENSION DEADLINE DATE LATE SUBMISSION ALLOWED HST NUMBER

R137667424 January 10, 2023

PARTICIPANTS

Participant Total (\$) Claim Status Non-Filing Participant First, Last Name **Filing Participant**

No 139.837.54 Submitted Grice, Shelley; +1 (647) 880-9942

shelley.grice@rogers.com

ATTACHMENTS

Claim **Attachment Document Import** Date Type Type **Attachment Participant** Message

AMPCO EB-2021-0110 Cost Claim 011020231543.pdf

TOTAL LEGAL/CONSULTANT/OTHER FEES TOTAL DISBURSEMENTS TOTAL HST 16,087.54 123,750.00 0.00

TOTAL CLAIM TOTAL AMOUNT AWARDED

139,837.54

REASON FOR **REASON FOR REASON FOR DISALLOWANCE DISALLOWANCE - 2 DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

Association of Major Power Consumers in Ontario

SEND PAYMENT TO ADDRESS **ATTENTION** Fareeda Heeralal

65 Queen St W Suite 1510

Toronto, ON M5H 2M5

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DATE SUBMITTED Shelley Grice January 10, 2023

Shelley Grice

CASE

Networks Inc.

COST CLAIM

EB-2021-0110 : 3 : Shelley Grice

INTERVENOR NAME

Grice, Shelley; +1 (647) 880-9942

shelley.grice@rogers.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

EB-2021-0110: Rates:

Distribution: Hydro One

Grice, Shelley; +1 (647) 880-9942 shelley.grice@rogers.com

NEW **PARTICIPANT**

No

NON-FILING PARTICIPANT F. NAME

DISBURSEMENTS

NON-FILING PARTICIPANT L. NAME

SERVICE PROVIDER TYPE YEAR CALLED TO BAR

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE**

24

CV STATUS (FOR

Consultant

CONSULTANT/ANALYST)

CV Provided within Previous 24 Months

LAST CV DATE February 16, 2022 **CHARGED**

13.00

HOURLY RATE

HST RATE

330

Yes

HEARINGS CONSULTATIONS

> No No

HEARINGS

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Tota</u>
Review Application and Evidence						
Review Application and Evidence	19.00	330	6,270.00	13.00	815.10	7,085.10
Discovery						
Preparation of Interrogatories	74.75	330	24,667.50	13.00	3,206.78	27,874.28
Review Interrogatory Responses	33.00	330	10,890.00	13.00	1,415.70	12,305.70
Technical Conference Preparation	24.75	330	8,167.50	13.00	1,061.78	9,229.28
Technical Conference Attendance	52.00	330	17,160.00	13.00	2,230.80	19,390.80
Technical Conference Follow Up	8.75	330	2,887.50	13.00	375.38	3,262.88
ssues List						
Preparation	2.50	330	825.00	13.00	107.25	932.2
Attendance at Issues Conference		330		13.00		
ntervenor Evidence						
Preparation		330		13.00		
Interrogatory Responses		330		13.00		
Preparation of Witness(es) for Attendance		330		13.00		
at Hearing						
Settlement Conference / ADR						
Preparation	86.00	330	28,380.00	13.00	3,689.40	32,069.4
Attendance	54.50	330	17,985.00	13.00	2.338.05	
Preparation of Settlement Proposal	7.75	330	2,557.50	13.00	332.48	2,889.9
Attendance at Presentation to Panel		330	,	13.00		,
Oral Hearing						
Preparation		330		13.00		
Attendance at Oral Hearing		330		13.00		
Submissions						
Written Submissions		330		13.00		
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
Other Attendance						
Other Attendance	1.25	330	412.50	13.00	53.63	466.1
Communication					00.00	
With Client	3.00	330	990.00	13.00	128.70	1,118.7
With Other Parties		330		13.00		.,
Motions		200				
Preparation of Motion(s) Materials	6.75	330	2,227.50	13.00	289.58	2,517.0
Prepare Submissions on the Motion(s)		330	, , , , , ,	13.00		, -
Attendance at Hearing on Motion(s)	0.75	330	247.50	13.00	32.18	279.6
Confidentiality	0.70	000	217.00	10.00	02.10	_, 0.00

Preparation of Application for		330		13.00		
Confidentiality						
Prepare Submissions on Confidentiality		330		13.00		
Attendance at Hearing on Confidentiality		330		13.00		
Decision						
Review	0.25	330	82.50	13.00	10.73	93.23
Rate Order						
Review		330		13.00		
Prepare Submission on Rate Order		330		13.00		
Total Service Provider Fees						
Total Service Provider Fees:		1:	23,750.00		16,087.54 13	9,837.54

Attachments

<u>Attachment Document Type Import Message</u>

AMPCO_2215_SGTime_HONI_0110.pdf

AMPCO_LTR_CC_Final.pdf Cover Letter

AMPCOInvoice_HONI_0110_2208.pdf Invoice

AMPCOInvoice_HONI_0110_2209.pdf Invoice

AMPCOInvoice_HONI_0110_2215.pdf Invoice

Summary_Final Cost Claim.pdf Other

AMPCO_2208_SGTime_HONI_0110.pdf Time Docket

AMPCO_2209_SGTime_HONI_0110.pdf Time Docket

Hearings, Consultations, Disbursements Attachments **Document Related Disbursement Claim Attachment Type** Claim Type **Import Message** AMPCO_2215_SGTi Hearings me_HONI_0110.pdf AMPCO LTR CC F Cover Letter Hearings inal.pdf AMPCOInvoice_HO Invoice Hearings NI_0110_2208.pdf AMPCOInvoice_HO Invoice Hearings NI_0110_2209.pdf AMPCOInvoice_HO Invoice Hearings NI_0110_2215.pdf Summary_Final Cost Other Hearings Claim.pdf AMPCO_2208_SGTi Time Docke Hearings me_HONI_0110.pdf

Time Docke Hearings

AMPCO_2209_SGTi

me_HONI_0110.pdf

Shelley Grice				
PROJECT TIME	SHEET	DATE	INVOICE	
EB-2021-0110 Hydro One Netwo PROJECT TIME SHE	rks Inc. JRAP Application 2023-2027	2021-12-31	#A22-08	
DATE	TASK DESCRIPTION	CHARGE TYPE	Hours	
2021-09-08	Review application; Respond to inquiries from AMPCO members re application & proposed increases; Call w/M. Rubenstein	Review Application & Evidence	1.00	
2021-09-10	Review application & evidence; Call w/client re AMPCO issues; Prepare Letter of Intervention	Review Application & Evidence	2.00	
2021-09-19	Review file correspondence; Review PO#1; emails w/client; Review application & evidence	Review Application & Evidence	1.25	
2021-09-28	Review application & evidence; Prepare letter re Blue Page Update; Review submissions of other parties	Review Application & Evidence	1.00	
2021-10-07	Review application & evidence; Review Hydro One reply submission; Review other reply submissions; Review Compensation Benchmarking	Review Application & Evidence	1.00	
2021-10-11	Review application & evidence	Review Application & Evidence	1.00	
2021-10-12	Review previous TX & Dx Decisions; Review application & evidence	Review Application & Evidence	3.00	
2021-10-15	Review application & evidence	Review Application & Evidence	2.00	
2021-10-16	Review application; Review IRs in previous applications; Prepare interrogatories	Preparation of Interrogatories	4.50	
2021-10-17	Review application; Prepare interrogatories	Preparation of Interrogatories	2.00	
2021-10-18	Review application; Prepare interrogatories	Preparation of Interrogatories	7.00	
2021-10-19	Review application; Prepare interrogatories; Call w/M. Rubenstein	Preparation of Interrogatories	5.00	
2021-10-20	Review application; Prepare interrogatories; Provide summary slides of JRAP application for AMPCO Fall AGM	Preparation of Interrogatories	4.50	
2021-10-23	Review application; Prepare interrogatories	Preparation of Interrogatories	4.00	
2021-10-24	Review application; Prepare interrogatories	Preparation of Interrogatories	5.00	
2021-10-25	Review application; Prepare interrogatories; Review PO#2; emails;	Preparation of Interrogatories	7.00	
2021-10-26	Review application; Prepare interrogatories	Preparation of Interrogatories	8.00	
2021-10-27	Review interrogatories of other parties; call w/M. Rubenstein	Preparation of Interrogatories	1.00	

Review interrogatory responses; Review Hydro One

Review Interrogatory

Responses

3.25

2021-11-30

Letter

Total			143.25
2021-12-17	Preparation; Attend Technical Conference	Technical Conference Attendance	3.75
2021-12-16	Preparation; Attend Technical Conference	Technical Conference Attendance	9.00
2021-12-15	Preparation; Attend Technical Conference; Questions for Panel #2 DX	Technical Conference Attendance	9.00
2021-12-14	Preparation; Attend Technical Conference	Technical Conference Attendance	9.25
2021-12-13	Preparation; Attend Technical Conference; Questions for Panel #1 TX	Technical Conference Attendance	7.50
2021-12-12	Prepare for Technical Conference	Technical Conference Preparation	9.25
2021-12-11	Call w/M. Rubenstein; Prepare for Technical Conference	Technical Conference Preparation	1.00
2021-12-10	Review & consider interrogatory responses; Review file correspondence; Calls w/M. Rubenstein re asset tables	Technical Conference Preparation	2.50
2021-12-09	Review & consider interrogatory responses; Prepare AMPCO/SEC excel spreadsheets for TC; discuss w/M. Rubenstein; Call w/J. Girvan; Review Issues List	Review Interrogatory Responses	4.00
2021-12-08	Review & consider interrogatory responses; Review file correspondence; emails; Review & comment on Draft Issues List; Calls w/M. Rubenstein	Review Interrogatory Responses	3.75
2021-12-07	Review & consider interrogatory responses; Review panel information; calls w/M. Rubenstein; investment analysis	Review Interrogatory Responses	5.00
2021-12-06	Review & consider interrogatory responses; Prepare letter re AMPCO issues for Technical Conference; Calls w/M. Rubenstein; prpeare capital analysis	Review Interrogatory Responses	5.75
2021-12-05	Review & consider interrogatory responses	Review Interrogatory Responses	2.75
2021-12-03	Review & consider interrogatory responses; Review file correspondence; emails	Review Interrogatory Responses	5.00
2021-12-02	Review & consider interrogatory responses	Review Interrogatory Responses	1.50
2021-12-01	Review & consider interrogatory responses	Review Interrogatory Responses	0.75

Shelley Grice

PROJECT TIME SHEET	DATE	INVOICE
EB-2021-0110	2022-06-13	#A22-09

Hydro One Networks Inc. JRAP Application 2023-2027

PROJECT TIME SHEET

DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2022-01-04	Review transcript & review Technical Conference Undertaking descriptions requested for accuracy; emails	Technical Conference Follow Up	0.50
2022-01-10	Preliminary review of AMPCO undertaking responses; Review and Comment on next iteration of Draft Issues List	Technical Conference Follow Up	1.50
2022-01-11	Review & consider all undertaking responses; Advise OEB Staff of AMPCO/SEC Motion	Technical Conference Follow Up	4.75
2022-01-13	Review PO#3 & Decision on Issues List; emails; draft outline of motion	Preparation of Motion Materials	0.75
2022-01-14	Review evidence; Draft AMPCO Motion Letter; calls w/M. Rubenstein; Review Jan 14 undertaking responses	Preparation of Motion Materials	2.50
2022-01-17	Finalize AMPCO Motion; Review Hydro One letter re schedule; Prepare for Motion Day	Preparation of Motion Materials	1.25
2022-01-18	Attend Motion Meeting w/w/Hydro One Counsel C. Keizer, Hydro One Staff (K. Burke) & M. Rubenstein re AMPCO/SEC Motions; calls w/M. Rubenstein; emails: Prepare for motion; Review OEB reply Letter re: schedule	Preparation of Motion Materials	2.00
2022-01-19	Attend Pre Motion Meeting w/Hydro One Counsel C. Keizer, Hydro One Staff (K. Burke) & M. Rubenstein; Attend Motions Day; emails	Attendance At Hearing on Motions	1.00
2022-01-24	Review evidence & prepare for Settlement Conference; Call w/M. Rubenstien	ADR Preparation	2.00
2022-01-25	Review evidence & prepare excel spreadsheet analysis	ADR Preparation	2.00
2022-01-26	Review evidence & prepare for Settlement Conference; Call w/M. Rubenstien; undertake analysis & prepare excel spreadsheets	ADR Preparation	5.25
2022-01-27	Undertake capital analysis; emails	ADR Preparation	2.00
2022-01-28	Review & analyze evidence & prepare for Settlement Conference; meeting w/M. Rubenstein to review analysis	ADR Preparation	4.00
2022-01-30	Review evidence & prepare analysis; Review & consider Motion Undertakings	ADR Preparation	7.25
2022-01-31	Meeting w/intervenors re ADR; calls w/ M. Rubenstien; Call w/ J. Girvan; Prepare for ADR; Draft TX & DX outline	ADR Preparation	8.00

2022-02-01	Dranara aveal careadchapt, cond to M. Buhanctain.	ADD Droparation	T 2.00
2022-02-01	Prepare excel spreadsheet; send to M. Rubenstein; Call w/M. Rubenstein; Review pre-ADR questions filed	ADR Preparation	2.00
2022-02-02	Review evidence & prepare for Settlement Conference; DX Analysis	ADR Preparation	6.50
2022-02-03	Send DX Analysis to M. Rubenstein; meeting w/ M. Rubenstien & OEB Staff re case; Call w/M. Rubenstein re capital analysis	ADR Preparation	8.25
2022-02-04	Review evidence & prepare notes for Settlement Conference; Review Hydro One email & letter re Postponement of ADR; emails; Review updated undertakings; Call w/ M. Rubenstein; Call w/J. Girvan	ADR Preparation	5.25
2022-02-07	Review Draft Schedule; discuss w/M. Rubenestien; Attend ADR	ADR Attendance	1.75
2022-02-08	Review Hydro One Letter re Adjournment Request; Prepare AMPCO Letter re: Hydro One Evidence Update & Schedule; Review w/client; Review submissions of other parties; emails	ADR Preparation	2.00
2022-02-18	Review PO#4 Decision on adjournment, Review Hydro One correspondence & updates	ADR Preparation	0.25
2022-04-06	Preliminary review of evidence update; Call w/intervenors re schedule	Review Application & Evidence	1.75
2022-04-10	Review & consider evidence update (2021 Actuals)	Review Application & Evidence	1.50
2022-04-11	Update ADR excel spreadsheets w/updated data	Review Application & Evidence	1.50
2022-04-14	Review & analyze evidence update; Review PO#5; emails; Call w./M. Rubenstein	Review Application & Evidence	1.00
2022-04-19	Review & consider evidence update	Review Application & Evidence	1.00
2022-04-20	Review & consider evidence update; Call w/M. Rubenstein	Preparation of Interrogatories	1.00
2022-04-25	Call w/M. Rubenstein; Call w/client re impact of update; Analyze DX data	Preparation of Interrogatories	2.00
2022-04-27	Review updated evidence; Prepare interrogatories; Identify previous IRs for updating; Calls w/M. Rubenstein	Preparation of Interrogatories	7.25
2022-04-28	Analyze TX data	Preparation of Interrogatories	2.25
2022-04-29	Review updated evidence; Prepare interrogatories; Call w/M. Rubenstein; Review OEB reply to schedule; Review SEC Draft IRS	Preparation of Interrogatories	2.50

TOTAL			133.50
2022-06-01	Preparation; Attend Technical Conference on Update; Questions for Panel #2	Technical Conference Attendance	6.50
2022-05-31	Prepare for Technical Conference Day #2; Revise/update questions for Panel #2; Reciew Transcript; calls w/M. Rubenstein	Technical Conference Preparation	1.50
2022-05-31	Attend Technical Conference on Update	Technical Conference Attendance	7.00
2022-05-30	Prepare questions for Technical Conference; review analysis & missing info; many calls w/M. Rubenstein	Technical Conference Preparation	7.50
2022-05-29	Review & consider interrogatory responses	Technical Conference Preparation	3.00
2022-05-26	Review interrogatory responses; review data; revise analysis with 2021 actuals; Call w/ M. Rubenstein	Review Interrogatory Responses	2.00
2022-05-24	Review interrogatory responses on evidence update; Prepare letter re: AMPCO's time estimate: Review file correspondence; Review I-14-O-LPMA-037	Review Interrogatory Responses	1.75
2022-05-02	Finalize interrogatories; Send M. Rubenstein updated DX & TX Tables; many calls w/M. Rubenstein; Prepare Briefing for AMPCO AGM	Preparation of Interrogatories	7.75
2022-05-01	Review updated evidence; Prepare interrogatories; finalize original Irs to update; send tables to M. Rubenstein	Preparation of Interrogatories	4.00

Shelley Grice

PROJECT TIME SHEET	DATE	INVOICE
EB-2021-0110	2022-12-15	#A22-15

Hydro One Networks Inc. JRAP Application 2023-2027

PROJECT TIME SHEET

DATE	TASK DESCRIPTION	CHARGE TYPE	Hours
2022-06-14	Review Clearspring & PEG Joint Report; Prepare points for ADR; Review Decision on Confidentiality	Preparation for ADR	0.50
2022-06-17	Review & consider Techincal Conference Undertaking Responses; Review Hydro One Confidentiality Request; Call w/MR	Follow-up Technical Conference	2.00
2022-06-21	Review interrogatory responses on Joint Report; Review OEB Decision on Confidential Undertakings; Review undertakings; Update capital analysis	Preparation for ADR	2.00
2022-06-27	Call w/MR re: issues; questions re: 2022 update	Preparation for ADR	0.25
2022-06-28	Call w/MR re: issues	Preparation for ADR	0.25
2022-06-29	Call w/MR; Review sections of previous HONI applications to include in analysis	Preparation for ADR	1.00
2022-07-11	Review update to JTU2.23; emails	Preparation for ADR	0.25
2022-07-22	Review interrogatory responses on Joint Report; Review OEB Decision on Confidential Undertakings; Review undertakings; Update capital analysis	Preparation for ADR	2.00
2022-07-26	Call w/MR; next steps	Preparation for ADR	0.25
2022-08-03	Call w/MR	Preparation for ADR	0.50
2022-08-04	Review materials; Prepare for ADR; update analysis; Call w/MR; define issues	Preparation for ADR	4.00
2022-08-10	Prepare for ADR; zoom call w/MR re: ADR	Preparation for ADR	1.00
2022-08-11	Review issues; Call w/MR; Review clarification questions	Preparation for ADR	1.50
2022-08-11	Call with Intervenors; follow-up emails	Preparation for ADR	2.00
2022-08-13	Review update to JTU2.23; emails; analysis; emails w/intervenors	Prepare for ADR	2.75
2022-08-14	Prepare for ADR; capital analysis tables; summarize points; emails w/intervenors	Prepare for ADR	4.50
2022-08-15	Attendance at meeting re: storm costs; emails	Other Attendance	1.25
2022-08-15	Attendance at ADR	Attendance ADR	6.50
2022-08-15	Zoom call w/ M. Rubenstein to prepare for Day 2; further analysis	Prepare for ADR	1.75

2022-08-16	Attendance at ADR	Attendance ADR	9.50
2022-08-16	Call w/ M. Rubenstein to prepare for Day 3; further analysis	Prepare for ADR	1.25
2022-08-17	Attendance at ADR	Attendance ADR	9.00
2022-08-17	Prepare for Day 4 working with MR	Prepare for ADR	1.00
2022-08-18	Attendance at ADR; emails with intervenors	Attendance at ADR	6.00
2022-08-18	Prepare for ADR; further analysis; call w/MR; emails w/client	Prepare for ADR	2.00
2022-08-19	Attendance at ADR	Attendance at ADR	6.75
2022-08-19	Prepare for ADR; follow-up analysis	Prepare for ADR	0.75
2022-08-22	Attendance at ADR	Attendance at ADR	7.00
2022-08-23	Attendance at ADR; follow-up	Attendance at ADR	4.75
2022-08-24	Attendance at ADR	Attendance at ADR	5.00
2022-09-01	Attend intervenor meeting re next steps; Call w/MR; emails	Preparation of Settlement Agreement	1.25
2022-09-30	Call w/MR	Preparation of Settlement Agreement	0.25
2022-10-03	Review details of Settlement Agreement; comments; callw/MR	Preparation of Settlement Agreement	3.50
2022-10-06	Call w/MR: Check numbers; Review tables in Settlement Agreement	Preparation of Settlement Agreement	0.75
2022-10-15	Review Hydro One comments on Settlement Agreement; emails	Preparation of Settlement Agreement	1.00
2022-10-20	Call w/MR; emails; Review Settlement Agreement	Preparation of Settlement Agreement	0.50
2022-10-21	Intervenor call re: Settlement Agreement; emails	Preparation of Settlement Agreement	0.50
2022-10-24	Review filed Settlement Agreement; prepare summary tables for client; update slides for AMPCO Fall AGM re application with data	Communication with Client	2.00
2022-10-24	Attend AMPCO AGM; Present details of settlement to AMPCO members; Respond to questions	Communication with Client	1.00
2022-11-29	Review Decision; email client outcome	Decision Review	0.25
TOTAL			98.25



December 29, 2022

Ms. Nancy Marconi Registrar Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Re: EB-2021-0110 Hydro One Networks Inc. 2023-2027 Joint Transmission & Distribution Application

AMPCO's Final Cost Claim

Dear Ms. Marconi:

In accordance with Procedural order No. 8 dated December 22, 2022, attached please find AMPCO's final cost claim in the above proceeding.

Hydro One's joint application is a significant and complex five-year application incorporating both transmission and distribution businesses. This is the first combined transmission and distribution application filed by Hydro One. The OEB noted in its Decision "With a combined proposed revenue requirement of approximately \$20 billion and a proposed investment plan of about \$13 billion over the 2023-2027 rate period, this is the largest and most complicated rate case to come before the OEB."

AMPCO's members are transmission and distribution customers. As a result, AMPCO reviewed in detail the major cost drivers in both of Hydro One's businesses based on input and direction from its members. AMPCO was active in most key aspects of the proceeding including the preparation of interrogatories, technical conference preparation and attendance, motions day, settlement conference preparation and attendance, and preparation of a settlement proposal that was approved by the Ontario Energy Board.

Given that the proposed capital plans for transmission and distribution are substantial cost drivers over the 2023 to 2027 period, AMPCO focused on reviewing and analyzing the transmission and distribution system plans including the planned individual investments for both. AMPCO along with Mr. Rubenstein of the School Energy Coalition (SEC) took the lead amongst the intervenor parties in reviewing and analyzing the details of these complex capital plans. AMPCO coordinated its review work on Hydro One's capital plans extensively with SEC. AMPCO also coordinated its efforts with other intervenors throughout the process to further minimize costs and duplication.

Hydro One filed two updates to the application, relating first to inflation and load forecast, and then to 2021 actuals for capital, in-service additions, and OM&A, on March 31, 2022 and April 8, 2022, respectively. The inflation update materially changed most of the numbers in the evidence, which required additional time for AMPCO to update its capital and OM&A analysis and review with other parties prior to the Settlement Conference.

¹ OEB Decision November 29, 2022 p.1

AMPCO's participation in this proceeding was comprehensive and in-depth. AMPCO respectfully requests reimbursement of its reasonably incurred costs as set forth in the attached cost claim, which is proportionate to this large and complex application and detailed analysis required to effectively engage in the key aspects of this proceeding including settlement discussions. AMPCO received an interim cost claim payment of \$103,200.08. AMPCO respectfully requests approval of the balance of \$36,637.43.

Please contact me if you have any questions.

Best Regards,

Colin Anderson President

Copy to: Hydro One Networks Inc.

alds

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2208

June 13, 2022

AMPCO
Thomson Building
65 Queen Street West, Suite 1510
Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Networks Inc. JRAP 2023-2027

EB-2021-0110

Description	Charge Type	Hours	Rate	Amount
Professional Services of	F			
Shelley Grice	Discovery	92.00	\$330.00	\$30,360.00
	Tech Conference - Prep	12.75	\$330.00	\$4,207.50
	Tech Conference - Attend	38.50	\$330.00	\$12,705.00
Sub-Total				\$47,272.50
HST on Services				\$6,145.43
Diahamaananta				
Disbursements				
HST on Disbursements				
GST#		143.25	TOTAL	\$53,417.93
817042757RT0001				

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2209

June 13, 2022

AMPCO
Thomson Building
65 Queen Street West, Suite 1510
Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Networks Inc. JRAP 2023-2027

EB-2021-0110

Description	Charge Type	Hours	Rate	Amount
Professional Services	of			
Shelley Grice	Tech Conf Follow-up	6.75	\$330.00	\$2,227.50
	Motion - Prep	6.50	\$330.00	\$2,145.00
	Motion Attend	1.00	\$330.00	\$330.00
	ADR Prep	56.50	\$330.00	\$18,645.00
	Discovery - Update	37.25	\$330.00	\$12,292.50
	Tech Conf - Prep	12.00	\$330.00	\$3,960.00
	Tech Conf - Attend	13.50	\$330.00	\$4,455.00
Sub-Total				\$44,055.00
HST on Services				\$5,727.15
Disbursements				
HST on Disbursement	S			
GST#		133.50	TOTAL	\$49,782.15
817042757RT0001				

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

Shelley Grice, P. Eng.

46 Scarborough Road, Toronto ON M4E 3M5

INVOICE # A2215

December 16, 2022

AMPCO
Thomson Building
65 Queen Street West, Suite 1510
Toronto, Ontario M5H 2M5

Attention: Mr. Colin Anderson, President

Re: Hydro One Networks Inc. JRAP 2023-2027

EB-2021-0110

Description	Charge Type	Hours	Rate	Amount
Professional Services of	:			
Shelley Grice	Tech Conf Follow-up	2.00	\$330.00	\$660.00
	ADR Prep	29.50	\$330.00	\$9,735.00
	ADR Attendance	54.50	\$330.00	\$17,985.00
	Other Attendance	1.25	\$330.00	\$412.50
	Prep Agreement	7.75	\$330.00	\$2,557.50
	Communication w/client	3.00	\$330.00	\$990.00
	Decision Review	0.25	\$330.00	\$82.50
Sub-Total				\$32,422.50
HST on Services				\$4,214.93
Disbursements				
HST on Disbursements				
GST #		98.25	TOTAL	\$36,637.43
817042757RT0001				

Details are included in the attached time sheet. Please make cheque payable to Shelley Grice.

Sincerely,

Shelley Grice, P. Eng.

EB-2021-0110 Hydro One Networks Inc. AMPCO Final Cost Claim

Cost Categories	Hours	Rate	Subtotal	HST	Total
Review Application & Evidence	19.00	\$330.00	\$6,270.00	\$815.10	\$7,085.10
Preparation of Interrogatories	74.75	\$330.00	\$24,667.50	\$3,206.78	\$27,874.28
Review Interrogatory Responses	33.00	\$330.00	\$10,890.00	\$1,415.70	\$12,305.70
Issues List Preparation	2.50	\$330.00	\$825.00	\$107.25	\$932.25
Technical Conference Preparation	24.75	\$330.00	\$8,167.50	\$1,061.78	\$9,229.28
Technical Conference Attendance	52.00	\$330.00	\$17,160.00	\$2,230.80	\$19,390.80
Technical Conference Follow Up	8.75	\$330.00	\$2,887.50	\$375.38	\$3,262.88
Preparation of Motion Materials	6.75	\$330.00	\$2,227.50	\$289.58	\$2,517.08
Attendance At Hearing on Motions	0.75	\$330.00	\$247.50	\$32.18	\$279.68
ADR Preparation	86.00	\$330.00	\$28,380.00	\$3,689.40	\$32,069.40
Attendance at ADR	54.50	\$330.00	\$17,985.00	\$2,338.05	\$20,323.05
Preparation of Settlement Proposal	7.75	\$330.00	\$2,557.50	\$332.48	\$2,889.98
Other Attendance	1.25	\$330.00	\$412.50	\$53.63	\$466.13
Communication with Client	3.00	\$330.00	\$990.00	\$128.70	\$1,118.70
Decision Review	0.25	\$330.00	\$82.50	\$10.73	\$93.23
TOTAL	375.00		\$123,750.00	\$16,087.50	\$139,837.50
Less Interim Payment					\$103,200.08
	· · ·	·	· · ·	·	·

Balance Requested \$36,637.43